5 - _ Y= k- = N

(4] Rk, x ARISES0=16 [n/s] Tlahd Y [m] = 3 Eﬁ &%‘L&
ERRD., B =0 [s] (2353 BB x [m] & 9 v=16 [m/s]
(M OBEFRER LD THD, ZOIEXK

1 RORDESIZ, ANFEICREF LT, 25 FLDAEMNBICAZEEEEZATHELD !
oREEL_ 1) Jm). [ @ Jim] x
By @ . EEsE] @ Hl<chs. 1 b A5 0 7T B 9 m 5 5
22T, COEORIZY=] (5) ek,

—2 BOTIZA S 2L 8D
POE KL D

WM ZMBIELTND
PDOLXIITHRAD

__________________ 4 - == —— ]
— L I e

L

RERDEY 7
(FIED®) FEICH LT, EEDAS 2L E/MBRIC, FBEDE53ELEEL

[(FIEQ) £DHEN SR TSN ARICESE CHIRESIITIE,
TN TRER] 1235,




